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QUESTION 1

Which action needs to be performed in order to complete the definition of an application-period temporal table?
A. A transaction-start-id column must be defined for the table.

B. A history table must be defined and associated with the base table.

C. ABUSINESS_TIME period must be specified in a CREATE or ALTER of the table.

D. A unique index must be created that prevents overlapping of the BUSINESS_TIME period of the table.

Correct Answer: C

QUESTION 2

When a COMMIT statement is executed, what happens?

A. All locks held on the database are automatically released.

B. Data stored in global temporary tables is automatically deleted.

C. Open cursors defined WITH HOLD are closed, but their data is retained.

D. The current transaction is terminated and a new transaction boundary is started.

Correct Answer: D

QUESTION 3

Which SQL statement will retrieve the department number (WORKDEPT) and average departmental salary (SALARY)
for all departments in a table named EMPLOYEE and arrange the result set in ascending order by average
departmental salary?

A. SELECT workdept, AVG(salary) FROM employee ORDER BY workdept GROUP BY 2

B. SELECT workdept, AVG(salary) FROM employee ORDER BY workdept ARRANGE BY 2

C. SELECT workdept, AVERAGE(salary) FROM employee GROUP BY workdept ORDER BY 2

D. SELECT workdept, AVG(salary) FROM employee GROUP BY workdept ORDER BY 2

Correct Answer: D

QUESTION 4

Which type of table is best suited for recording results from application data manipulation that is not required to be
persistent?
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A. Base Table

B. Temporal Table
C. Transition Table
D. Temporary Table

Correct Answer: D

QUESTION 5

Given the following statements:

CREATE TABLE employvee (empid INTEGER, info XML,

INSERT INTO employvee WALUES (1,
‘employeeinfo=
<name=Joe smith</name=
<department name="DB2"=
<team=Development=/team:=
<fdepartment=
</Bmployeeinfo="),

If the following <Cuery statement is executed:

HOAUERY
for $info in db2-inxmicolumn{' EMPLOYEE INFO'Yemployeeinfo
return $info/name

What will be the result?
A. Joe Smith

B. Joe Smith

C. Joe Smith>DB2

D. Joe Smith

Correct Answer: B
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